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wR| 5 H(m) al(m) a2(m) b1(m) b2(m) V(m3) V=H/6 x { (2xal+a2) Xb1 + (2xa2+al) Xb2 }
19 1.500 10.400 10.400 6.500 5.450 93.21 1.500 /6 x{(2x 10.400 10400 ) X 6500 +(2 x 10400 + 10.400) X 5450 93.21
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21 1.000 3.700 3.700 4.400 3.700 14.99 1.000 /6 x{(2x 3700 3700 ) X 4400 +(2 x 3700 + 3.700) X 3.700 14.99
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25-2 0.690 3.450 0.000 2.900 2.762 3.40 0690 /6 x{(2x 3.450 0.000 ) X 2900+(2 X 0000 + 3450) X 2762 3.40
26-1 0.500 3.700 3.450 3.000 2.900 5.27 0500 /6 x{(2x 3700 3450 ) X 3000 +(2 x 3450 + 3.700) X 2.900 5.27
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s H(m) al(m) a2(m) n m Al=(a1+a2)/2 x Hx J (1+n)| A2=(a1+a2)/2 X HX ¥ (1+m?)| A1+A2(m2) |A3=(al+a2)/2 X H(m2)
19 1.500|  10.400|  10.400 0.200 15.91 0 15.91 15.6
20 1.500|  10.400|  10.400 0.200 15.91 0 15.91 15.6
21 1.000 3.700 3.700 0.200 3.77 0 3.77 3.7
22 1.000 3.700 3.700 0.200 3.77 0 3.77 3.7
23 1.000 3.700 3.700 0.200 3.77 0 3.77 3.7
24 1.000 3.700 3.700 0.200 3.77 0 3.77 3.7
25-1 0.500 3.700 3.450 0.200 1.82 0 1.82 1.79
25-2 0.690 3.450 0.000 0.200 1.21 0 1.21 1.19
26-1 0.500 3.700 3.450 0.200 1.82 0 1.82 1.79
26-2 0.690 3.450 0.000 0.200 1.21 0 1.21 1.19
23 1.000 3.700 3.700 0.200 3.77 0 3.77 3.7
24 1.000 3.700 3.700 0.200 3.77 0 3.77 3.7
25-1 0.500 3.700 3.450 0.200 1.82 0 1.82 1.79
25-2 0.690 3.450 0.000 0.200 1.21 0 1.21 1.19
26-1 0.500 3.700 3.450 0.200 1.82 0 1.82 1.79
26-2 0.690 3.450 0.000 0.200 1.21 0 1.21 1.19
&t 66.56 65.32
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s Bs | EETE| EAELD|REDE | BEDE REP ERR BRAE RiGEHA®EE e
H(m) al(m) a2(m) n m Al=(al1+a2)/2 X Hx y (1+nd)| A2=(a1+a2)/2 X H X 4~ (1+m?) A1+A2(m2) |A3=(al+a2)/2 X H(m2)
19 1.500 10.400 10.400 0.500 0.00 17.44 17.44 15.6
20 1.500 10.400 10.400 0.500 0.00 17.44 17.44 15.6
21 1.000 3.700 3.700 0.500 0.00 414 4.14 3.7
22 1.000 3.700 3.700 0.500 0.00 414 4.14 3.7
23 1.000 3.700 3.700 0.500 0.00 414 4.14 3.7
24 1.000 3.700 3.700 0.500 0.00 414 4.14 3.7
25-1 0.500 3.700 3.450 0.000 0.00 1.79 1.79 1.79
25-2 0.690 3.450 0.000 0.000 0.00 1.19 1.19 1.19
26-1 0.500 3.700 3.450 0.000 0.00 1.79 1.79 1.79
26-2 0.690 3.450 0.000 0.000 0.00 1.19 1.19 1.19
E&t 57.40 51.96
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OWIGhEY, L HYRKET (BE)
1) ZBEEE:
BE EiE(m®)
EERT (EEEERLY EER) 13.12
2)IREBOZEMBERUVBEEZEE:
TI78 g =R 72 BRDIES BiZREE
EPiUi (EERT): (=FH£@EHE) 13.12 RiMRI2IVEHIEEER P EY 30U m
FHRYRE(EHT): (=ZHEE) 13.12 MR TFIVEEBIIE R L&Y 25 4 m




MU —ABWIDIEIR FExEEESEE

EEA EERANKERERRE
HEtNo : 18K27077
AE - R (ER)

1. RS TRYEEEERAT
DIEED 1 MU EEYERMmM2)  (RILMRS)
B EHE(m?) BFR% @AM

ML T EYR VIEBER ( ¢ 4008 F87) 0.0068 24  0.1632
PLYTEIR VIEEER (6 19078 F 27) 0.0068 0

2 BUSthBY, LBYBEERET

D&
Do 400 t= 14 :0.4000 X T = 1.257 m2/m
@ 400 t= 9 :0.4000 X 71 = 1.257 m2/m
B o 190.7 t= 8.2 :0.1907 X 71 = 0.599 m2/m
2)$E LT D AERDELY
0 400 :0.4000,°27°2% T = 0.13 m?
) 190.7 :0.1907./2"2%x 7w = 0.03 m?

TaArTL—b

Y U MER L YA UME RIE His

MDY 34UM @ 400.0 X 14.0) 600 32 0.22

@Y 34U P 400.0 X 9.0) 600 28 0.21
(331U P 190.7 X 8.2) 360 9 0.08

i=:K (v mm mm  |m%/Eifk

4)K i S T=
0 400 :0.4000,°2"2 % 1 = 0.13 m*/&ff
/S\T:

- d 190.7 :0.1907./272% 1 = 0.03 m%/ &



3. B EEEIE

1) F1
B £ (mm) e ' (m)
® 400 2,098 1 2.64
933 1 1.17
281 1 0.35
0.00
$190.7 401 2 0.48
0.00
@ 4005 HEERERY 2 -0.26
D 190. 7B ELRY 2 -0.06
DY'31YM $ 400.0 X 14.0) 1 0.22
2Y'31YM ¢ 400.0 X 9.0) 0.00
@Y 31U ¢ 190.7 X 8.2) 0.00
K i 57 1 0.13
A= 190.7 2 0.06
it 473
2) F2
= £ (mm) HE miE (m)
® 400 2,098 1 2.64
0.00
281 2 0.71
0.00
$190.7 0.00
0.00
P 400 B IEERELY 2 -0.26
D 190.7; 8 EALY 0 0.00
DY 31U ¢ 400.0 X 14.0) 2 0.44
@31 ¢ 400.0 X 9.0) 0.00
@Y '31UM $ 190.7 X 8.2) 0.00
K Stz 1 0.13
A t= ¢ 190.7 0.00
B 3.66
3) F3
ER#t £ (mm) e i (mY)
@ 400 0.00
0.00
0.00
0.00
$190.7 0.00
0.00
@ 400;BIEERERY 0.00
G 190.7 B ELRY 0.00
DY 31U b 400.0 X 14.0) 0.00
Q¥'31YM ¢ 400.0 X 9.0) 0.00
B3N @ 190.7 X 8.2) 0.00
K St 0.00
A= $190.7 0.00
E 0.00




4. BEET

VRGTEYEE
L I miE (m2) = mEiE (m2)
MLy 7BV NEEER (@ 4008 F55) 0.1632 0.33
MUY TELRVNEEER (P 190. 78K FEF) 0.0000 0.00
2)IRGH- ERYMEIE
BB & miE (m2) e miE (m2)
1) F1 4.73 9.46
2) F2 3.66 3.66
3) F3 0.00 0.00
4) F4 0.00 0.00
5) F5 0.00 0.00
6) F6 0.00 0.00
7) B1 0.00 0.00
8) B2 0.00 0.00
it 13.12




EABT7 U A—RILNEEEH R

2R R i B K HE
FERBE7H—RILE 5 TP
rpLFoh—RTgRLE | M22 L=450mm [4 X5 20 K
TIHILTUh— R-22N 4x5 20 &
NEFYE M22 16 X5 80 &
Al FL $26 L=250mm [4x5 20 7
B 8% 55 D16 L=1940mm [24.2 X5 1210 kg
. M~
o S —RFNT P THYETS e
S = | =
}——— (Vo) T (9]
[aN]
— Ly
(e} (o]
I (e o
3 2
(]
— S| TIHTHh— [(R=22) EC I b N =
| - M22 | L=f450  201. 9 i B
I (an]
o (e
r~ N
- — Lo

600 ] 2@300=1800 {600

3000

| 4




EA7A—RILE

it E OZ NO.

il

SiESE £

1940
560 Ijl)(ijIO‘SIOJlItll_O 560

\ =
1] Tcl'
o D16 ] Trh— FHEN
> T 1 Sf = 1
_ﬁ'EL J:: E &
i . —= % (SW2)
D16 | — 3 i ~—2 S~ Fl S =
‘ - FeA—FL— 1@ g <
DI6 | B 8o ~
S A - - % rEhNT A~ R=22)
~ ’? o M22 =450 Foh—FL—k
\o i (45A2)
= g = FEEBFHREE, FSHLTLA— (R-22) EREHOETT,
of= /& = vt
FIANTH— (R-22) Frh—FL—t
M22 (=450 (45A2)
1EREY
%R H g A =R 2 HE
TEALTUA—RASTRILE
M22 1 =450mm 4 PN 40
TEANTH—
R-22N 4 PN 4.0
NATFYE 1ARZ=Y4E
M22 4x4 & 16.0
Hil L.
@26 L=250mm 4 L 4.0
L&k

D16 L=1940mm 8x1.940 X 1.56 kg 24.2




MEIL—LEMINER WA EEREHM

F£H8:
BEMA: EEREEHEEERERR
E%EtNo. : 18K27077
S3(H) 2m
HBERAK avy)-+ IE4: BERINEX)
1. MM ESHET
DIE
A& H4X HBE (kg/m) ME
B D400 x 14 133] STK490
B ® 400 x 9 86.8] STK490
e RE R4 $190.7 X 8.2 36.9] STK400|RAKAZAT I @D
T34 TL—b
Y Y MERASL Y {UME RE 5= =}
Y34 M1) D400 X 14 4SJ1 600 32 69.72 SM490A
Y342 D400 % 9 4SJ2 600 28 61.00 SM490A
Y'3{UM3) ©190.7 X 8.2 2SJ3 360 9 7.07 SM490A
B mm mm kg/ & Flr
DY MT777LE LU ST -} FEHYA4X-- ®400 % 14
EBSL EHE RE ME 5=
DRE2H EIR 4SB5 ® 650 22| SM490A 56.44
QH5HER 4SB6 ® 650 22| SM490A 56.44
®F7>h—PL 4SA2 710 9] SS400 35.49
@ES SW2 70 16 SS400 0.56
OEEN STP1 120 X 100 12  SS400 0.95
CEEX=Y STP2 120 X 100 16 SS400 1.27
DE 5F=PL 4ST2 d 386 9] SS400 8.27
®F — 1 5 f-PL 2ST11 ®180 9] SS400 1.80
B3] mm mm kg/ & Pl
HIERIK - - avy)-k

HRILEE

ksl BE (kg/tyb)
M22-115(S10T) 0.658
M22-105(S10T) 0.628
M22-100(S10T) 0.613
M22-90(S10T) 0.583
M22-85(S10T) 0.568
M22-80(S10T) 0.553
M22-55(S10T) 0.478




2. HEHMEE
1) Fi

R4t £S (mm)] = g2 (k) ME
D400x 14 * 1,675 1 222.78 |STK490
* 2,858 1 380.11
* 281 1 37.37
D400 9 * 0.00 |STK490
* 0.00
* 0.00
®190.7%8.2 * 401 2 29.59 [STK400
* 0.00
* 0.00
$'3{UMD)--- D400 X 14 * 4SJ1 1 69.72 [SM490A
Y 4D+ D400 X 9 * 45J2 0.00 [SM490A
YU D190.7%x82 | * 25J3 0.00 [SM490A
D25 ER * 4SB5 1 56.44 [SM490A
Q59 EMR * 4SB6 1 56.44 |SM490A
@7~ H—PL 4SA2 2 70.98 [SS400
DESR SW2 8 4.48 [SS400
OLiELY STP1 2 1.90 |SS400
OlEELY) STP2 0.00 |SS400
@DFE A 1=PL * 4ST2 1 8.27 [SS400
®F —.1.5\F=PL * 2ST11 2 3.60 [SS400
= 864.32
2) F2
B4t EE (mm)] 2 T8 ke #E
dD400x 14 * 0.00 |STK490
* 2,858 1 380.11
* 281 2 74.75
D400 9 * 0.00 |STK490
* 0.00
* 0.00
®190.7%8.2 * 0.00 |STK400
* 0.00
* 0.00
$'3{YMD)--- D400 X 14 * 4SJ1 2 139.44 [SM490A
Y 4D+ D400 X 9 * 45J2 0.00 [SM490A
YU D190.7%x82 | * 25J3 0.00 [SM490A
D25 ER * 4SB5 0.00 [SM490A
Q59 EMR * 4SB6 1 56.44 |SM490A
@Fh—PL 4SA2 1 35.49 [SS400
DESR SW2 4 2.24 [SS400
OLiELY STP1 2 1.90 |SS400
OlEELY) STP2 0.00 |SS400
@DFE A 1=PL * 4ST2 1 8.27 [SS400
®F —.,.5\F=PL * 2ST11 0.00 {SS400
= 659.01




3. MMEE

—_imA BEE (ke E& (ko)
Fi EXES 864.32 2 1,728.64
F2 EXES 659.01 1 659.01
F3 EES 0.00 0.00
Fa EXES 0.00 0.00
F5 EES 0.00 0.00
F6 EXES 0.00 0.00
F7 EXES 0.00 0.00
F8 EXES 0.00 0.00
F9 EXES 0.00 0.00
F10 EXES 0.00 0.00
B1 EES 0.00 0.00
B2 XS 0.00 0.00
Al 4SA2 5 177.45
A2 SW2 20 11.20
M22-115(S10T) 0.658 0.00
M22-105(S10T) 0.628 0.00
M22-100(S10T) 0.613 24 14.71
M22-90(S10T) 0.583 0 0.00
M22-85(S10T) 0.568 0.00
M22-80(S10T) 0.553 0.00
M22-55(S10T) 0.478 0 0.00
Bt 2,591.01




BERERGEE

I #| # 35l oAl T Hiy | # 2 |tLE%E| &
 ofu E 1.0 1
EELXT
PRYE ga m3 125.1 130
R D m3 40.5 40
EEEIE =} m2 75.9 80
Bt m3 48 5
HE=PUES m3 0.38 0.4
W=T
bE Ju oI m3 75.3 80
avy)—RERL m3 26 3
kT
1SURKET m 50.60 51
av91)—k 0 ck=24N/mm2| m3 36.43 36
B B BEBEY m2 242.88 243
#HLaryy—k  |t=50 m3 3.80 4
EEEIE =} m2 75.90 76
73] D13 kg | 1274.89 1275
FFEILHI—+D m2 34.70 35
av91)—k 0 ck=18N/mm2| m2 34.70 35
EWRA RC-40 t=100 m2 34.70 35
RhEEHR T = 1.0 1
BR%RH LM (H=0.8m m 78 8
BRERLEM |H=1.1m m 48.3 48




KIEE THRIER T+ I & BB %
K iE B R N
@ n | tm| o N* *”*C " ”F"C P THE| | & M| LHE| f | REtuE c |
KR T FET
+& [ 0.90 0 0 45 41 |0 - 40.5 = -40.5 (C) KiEE T +& [ 0.90 80 80 104
= 1115 125 144 0 0 [0-45=-45(N) HEHI +& [ 0.90 0 0 0
= 1115 0 0 0
B 80 104
Bt T8 ] 0.90 0 5 4
B 5 4
Bt 75 100
B T# ] 0.9 125 144 45 41 (144 - 405 = 103.5 (C)

125.1 - 45 = 80.1 (N)




T T EEFE

I Tiagm| .

oAl RO (E%%J: KEET B | & 3
FEEA | £ 0.0 m® 0.0
FUERl | & 0.0 m® 0.0
R Y8 e 125.1 m® 125.1
R D 40.5 m® 40.5
EEEE| & 759 m? 75.9
ZHER | & m?’ 0.0
qL Yy —REREEL 2.64 m° 2.6
AsEUEL m> 0.0
2 4.8 m® 4.8
RAEED 21—k 0.38 m> 0.38




T ITHEHFEOKES)

. 5 B FUIEAEI(ERD) FUIRERIEE) RE(ERD) PRIE(EE)
bl =) (m3) (m3) (m3) (m3) e
(m) W m T | HE| BE T 15 B = Wr @ T 15 B = Wr @ T 15 ¥ 2
NO. 5 + 8.497 1.4 0.0
NO. 5 + 5.938 2.500 1.3 1.35 34
NO. 5 6.000 2.0 1.65 9.9
NO. 4 + 10.000 10.000 2.0 2.00 20.0
NO. 4 10.000 2.2 2.10 21.0
NO. 3 + 10.000 10.000 3.1 2.65 26.5
NO. 3 10.000 3.3 3.20 320
NO. 2 + 17.884 2116 8.3 5.80 12.3
& 50.616 0.0 0.0 0.0 1251




T ITHEHFEOKES)

. 5 B L a9 —REURL 2 RiEEHa D) —k
bl = (m3) (m3) (m3) (m3) e
(m) W m T 1 = | W @A T 15 B = Wr @ T 15 = Wr @ T 15 B =
NO. 5 + 8.497 0.2 0.0 0.00 0.0 0.1 0.0 0.13 0.0
NO. 5 + 5.938 2.500 0.2 0.20 0.5 0.62 0.31 0.8 0.2 0.15 0.4 0.05 0.09 0.2
NO. 5 6.000 0.6 0.40 24 0.00 0.31 1.9 0.1 0.15 0.9 0.00 0.03 0.2
NO. 4 + 10.000 10.000 0.6 0.60 6.0 0.00 0.00 0.0 0.1 0.10 1.0 0.00 0.00 0.0
NO. 4 10.000 0.6 0.60 6.0 0.00 0.00 0.0 0.1 0.10 1.0 0.00 0.00 0.0
NO. 3 + 10.000 10.000 1.3 0.95 9.5 0.00 0.00 0.0 0.1 0.10 1.0 0.00 0.00 0.0
NO. 3 10.000 1.3 1.30 13.0 0.00 0.00 0.0 0.0 0.05 0.5 0.00 0.00 0.0
NO. 2 + 17.884 2116 1.6 1.45 3.1 0.00 0.00 0.0 0.0 0.00 0.0 0.00 0.00 0.0
=) 50.616 40.5 2.64 4.80 0.38




R

£ FR R it o' ® #H =
BRI [ L A
ER% [ LA H=0.8m 7.8 780 m
ER% [ LA H=1.1m 483 4830 m




K TEEHE

£ FR v it ' R #H =
1S URIKERT EE 50.6m 506 m
av91)—bk 0 ck=24N/mm2|7.20/10.0 X 50.6 36432 m®
B B EiEEY [48.00/10.0 X 50.6 24288 m?
ByLary)—e t=50 0.75/10.0 X 50.6 3795 m®
EEEIE b=} 15.0/10.0 X 50.6 759 m?
%5 D13 251.954/10.0 X 50.6 127489 kg
FiRIAV—MD t=100
av91)—bk 0 ck=18N/mm?2 347 m?
AR RC-40 t=100 347 m?




A =

£ 5 it HE O£
15UEIKERT 1400
200 1000 200
D13a300
/’ L=3400
o| & L D13
= = ™
o Zl ~| n
~ % N
= . o\
BLavs )=+
240@5=1200
1400
1500
% i FE K #H =
(10.0m%LY)
av9)—k (14x1.3-1.0x1.1)x 10.0 720 m°
0 ck=24N/mm?
B (1.3+1.1)X 2% 10.0 48 m?
AEEY
#Lars)—rt=50)|1.5x 0.05 x 10.0 075 m°
EmEIE 1.5x10.0 15 m?
€5)
$#5 D13 (3.40 x 3.33+1.0 X 14) X 0.995 X 10.0 25195 kg




it B

A

B fHIEH(H=1.1m)

1.1m)

(H=

3% By Ak A

]
e

i ® R

A

BR3% [ LE A
H=1.1m




L

.l.

]

0.8m)

Brs% [ AL AR(H

EEM LM (H=0.8n)

]
e

g A

.l.

]

1

BR3% [ LE A
H=0.8m




A =

L =

T

FEeRa> o) —bk

gck=18N/mn’

[T T T T T T

ER %A (RC-40)

=T ]

HoE

&%

]

avo)—k

0 ck=18N/mm2

A

RC-40




7

4
ety

|2,
S T
i ,
| 8]

=

G
FHALHY—FD =100

RHEBE (RO-40 =100)

!
0 ck=18N/mm2)

34.66
34.66
34.66

3.



